_ 4 _
Q%Z%ﬂé%ﬂﬁﬁﬁﬁAMNWhmAzgﬂchzm
2} 1 giet. 722 ABC 9] WolE F5tojal.

C
12
A B
> £
> e 54

B ~

olm& BC = AC xsin A ©|th.

sin A =

2l &
(SRS

:12=A_C><§,E:15

oetratA Aelof o5 AB = V152 — 122 = 9 o]t}
wFebq A17He ABC 9] ol 9 x 12 x % _ 54 o]t}




[=p}

2. 2C=90° ¢l AABC 9|A tanB = 3 A o, sinB 9 gE&?

A

\




& 22 Htx]5o] 1 91 Yot} sinx € cosx, tan x & HEFHE=
B 2

©
LR

H7]

@ O0A ©OB ©O0C
® AD ®BC © CD

®
S
)
®
>
vy

@D sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
@sinx: CD cosx = OD tanx = AB

@ sinx = CD cosx = OA tanx = OB

® sinx = BC cosx = OC tanx = AB

8

Sinx:C=D:C—D:CD
OoC 1
cosx:gzﬁzOD
(016 1
tanxzﬁzﬁzﬁ
OA 1




g3 o] AHLEC o A
AABC oA BC = 16cm ¥
o, AH o] Zo]=?

D 3+v3cm @4\/§cm ® 5+3cm
@ 6+2cm ® 6V3cm

8

S 16
AH = tan(90 01?3 60°) + tan(90° — 30°)
T ° 1 tan60°
B ang” + 06
3 443
E
b

= 5 = 43(cm)




b = 47hge] ol 2 uhEs] HAlo] T ALY,

@ (1)34V2, (2)26 V3 @ (1)35V2, (2)26 V3
@(1)36«/5, (2)25V3 @ (1)36v?2, (2)24V3
® (1)37V2, (2)26 V3

B

(1) = x12x 12 X sin(180° — 135°)

| —
—ro| = X

X 12 X 12 X sin 45 °
V2

=-—X12x12Xx —
2 2

=362

1
(2) = x 10 X 10 X sin 60 °

1 V3
= -—x10x10x —
2 2

=253




6. the 1T 22 WYAWMY ABCD A Bem--_ D
oA BjZH4 BD ©] ol Fatolet. ‘ i

it
o
B8

>
> HEH 2437em

B ~

DE = 65in 60° = 33 (cm)
CE = 6¢c0s60° = 3 (cm)
BE =8+ 3 =11 (cm)
kA 224428 BED oA
BD = V/DE +BE’
= 27+ 121

V148

V37

(cm)




7.

e 1™ 22 FPAAPG A A = 1200 4 o, T4 B

ool AF] ghe T5ha?

A D

g4
T
=C

B<< =
“12cm--

® 108 @ 144 ® 196 @304

® 340

B

D oA AB 9] d&-Ael W& =40 #g H =t
AADH o[ 4]

AH = AD cos60° =6

DH = AD sin60° = 6 V3

ABDH | A
BD = VBH? + DH?
= \/(6+8)2 + (6«/5)2

= V304(cm)

ol
=0
rd




ot I3 ZHe gABCD 9] Y o]
stolzt.

il
-
)

i

\VARR 4
02
i

523

B ~

AC _
tan 60 ° = ?C =3, AC =83

1
AABC = 3 X 8 X 16 X sin 60 °

:%x8x16x\/7§:32w/§

AACD:le«/Ex10xsin3o°
1
:§x8\/§x10x§=20\/§

ODABCD = AABC + AACD
=32vV3+20V3 =52V3




oh2 1o Al 10(sin A + cos A) ©] 3F-277

@Qu o1 01w @18

® 19

AABC O ADBE |, /A = /E
DE=V52-42=3
BD
sinA:=:il, cos A =
BE b5

2l
ol o

[SIIEN Wlvv)

4
c.sinA 4 cos A = E +

ot w

2. (sinA + cosA) = 10 x g =14




10. tanx=2vV3cosx ¥ W, sinx 2] g2 Fatodat. (2 0° < x <90°)

V2 V3 Vi 23
oy ov Of oF 2

o]B 2 2+/3cos? x = sin x

COS X

cos?x =1-sin?x °|B &
2V3(1 - sin? x) = sin x,

23 - 2V3sin? x — sinx— = 0
sinx=X(0<X<1)2%¥°H
2x/§x2+x—2ﬁ:0,x:\/7§

V3

osinxy = —




